(547 | BmEM
. % & | GpLM—Cp—2F
ZER (1/20 OpLM—Cp—2E (ZM) S
FKER 5
(1/25) R (E@&2 | KECHO1044
87 2000 2000 2000 &
PESE BF28
(@)
— — — & — — N - T
i A\ — Il — — SR
R \ L] MR -
= =X — — — — — — = = 58
\ €-L/iA4T By b b ATV AN Lo % -
\ 048.6x 2.4 M14x 66 (BT &) _=
GL GL || N
GT14.3x14.5 fw
BFHIMEE (1/5) T2
BFHEE (1/5) | ey |
N aininintal i 1 Zafuinininia D ——,
[ - TT1 - - A —————— . o o=
( |=$==|=====l: ===$—=|==| O ‘\ / l K_L\/\’(7a_¥h‘%ﬂ] <1/10)
WA A b AYF-AV-T7 itk b 4—18x 25 ER 16X 248K =LA T
M14x 35 me b P42.7xt3.2 MTex 140 e > / /¢48.6xt2.4
M14x 66 R4t (&) e — 4 — S 9ot
y iR o T =@ R6(5) 47 160 60| |47
RIFSTEHAT (1/5) = o 068 -
¢======4§%======j ) = | 3936
A : I
*RLER
8- AELJIS CI323(FHER- 70 329 L- v5xY 9 LARD> FERRUES)
PEB2EN (1/5) /\ . /\ 9o ¥ HER(K27)E T 5.
| GLES — % % & '
0 " ) A — % K STK4001S | SRR & + HEHARE [ : JIS G 3323(K27:8%)
o ~ 7 - - e e C-LA{7 | STK400IS | B BAR® - & + BERHES Wi : JIS G 3325(K271%)
Tg (V5 -2U-7 | STKA00IS | BREER»- & + HEHMRE |8H : JIS G 3323(K278%)
| ¥T28 SOMH400 | BMEER»- * + BERAERE |8 : JIS G 3325(K27%)
e PELE SOMH400 | BMEER®- * + BERARE B : JIS G 3325(K27M%)
f?g;?m Bt | 1685 | HBBI®o & MI6x 140
AN 2 R WA | 6.818% | BHBR®- = M14x66
PRHE BN (1/5) 27U NN~ WA | 10.988 | BRBH®- 2 M14x35
Xvy T PC DU Y
g N :_ ) A7vhn- (ReHf)]  PC FUH-F2— F B IAK-X B-&
( il 0 NETIS& RS :KK—070035-V
’%@ ¥ATUN A -URTRORE - PELBLHYAY,
GED) BRUBALSVBLEET 5o EAHY 2T,




